O00do0o0ooooooonoo 20 20030 100 10

1 000000000DOOoooo (o)

1.1 0OO0D0ODO

0000000000000 00000000000 (DO00O0)000D0O0D0O00O00O00O00O0
gobooooobobooobbooooobobboooobbooobbooobboooooboboog
0000000000 CUOOO0O0O0 prog2-1.c 000000 ODODOOOOUOOOOOOOODDODOO
ooboooobobooobbooobobbOo0obOb0o0o0ob0bUO0ECF ODDODOODDOOODDOO
coooooooooodbo 1oooboooOoooooooobooOooooDooobogDooboOoDoo
goooogo

prog2-1.c O00OO0O —

s1542h017% ./prog2-1

100000 oooooooog => 65
200 000000000000 => 35
0000 o0oOoo0ooooog => 178
A0 0000000000000 => 213
5000000000 ooooog = 117
e 0000000000000 => 98
TOo0o0oo0oooooooog =
O0o0oo40 00000 213 000
$1542h017Y% ./prog2-1
100000000 0o00o0o0o0g => 563
20 0000000000000 =
OO0o0o0oi1000000 3 000
s1542h017% ./prog2-1
100o0oooooooooog = .
s1542h017Y%,

00000 (1) 000000000000 00O00O0OD0O0O0O0DO0O0O0OO0OO0OO0ODOODODOO
ooooboobobooobooboboooo

(2) 00OO00O0ODDO0OO0OOO0OOO0ODOOO0ODOO0 3000000000000

(3) 0000000000000 O0ODOU0DO0O0OU0O0OO0ODOOOODOODOD
(0000DOoO00DooUOOOoO0DbDOoUOOOOoUDOOUObOOOUODboUOODOO
googoog

000000 (1) 40000000 numOmaxOmaxpos 0 new 000000
(2) num 0 00000000

(3) 00 4000000000000

(3-1) num+ 1 00000000000OODO

(3-2) DODO00O0DOO0 newOOOODODOODODOODD (DDODOODOODO)
goooooobgon

(3-3) 00 num=00000 new>max 000000000 DO



(4)

(3-3-1) max 0 new OO0 OO OO
(3-3-2) maxpos 0 num+1 000000

(3-4) nun 0 10000
O0numd OOOOODOOO

(4-1) maxpos 0000000000 max 00OD0ODO0ODOOOOODO

1.2 0OO0O0OO0OO0OO0OOO

0000 (00000)00000000000OD (0000000 DOO0)0D0DO0O0O0OD0O0ODOOOO
0000000000000 00000 20000000000 COO00O0O0O prog2-2.c 00000
oooobooooboooobooobo 1oooboboooboboboooboo

goo

goooo

gbooooo

(1)

(1)

(2)

(3)

gooooo zy,ze,zs,....,z, OOOO0O00D0OD0OD0 mOO0O0O0OO0OO0O0ODOOO
gbooobgoon oO

gobooobooooboobooboboobooboboboboobooooboob
gooboobooooboobooboboobooboobobooboooobooo
goooobogbobooobooboboboboobooboboobooobboon
googog

ggoobooboooooobooooobbbooouobbboooooobooboga

ocoool-3o0o0oo00ooOoooOoooOobooOooooooDoooooboooo
goooobooooboobooobooboobboobobooboobboob
goooooobo

oooobooboboooboobobooobooboboooboobo

ggoooboooooooo

OO0 1000 000000000 data0OO0OO0OO0OOO0 numbi0D0OO0OO0OOOOO
suml mean[] vsum sigma OO0 OO0 O

U0 dataOD0O0OO0O0OO0ODOOOOOOODODOOOOOO

(2-1) num 0 00000000
(2-2) num < 1000 0000000000000 200000000000

(2-2-1) D000D0D0D000 datalnum] OOOOO0OO
00000000 (0OOD000O0O00D)00D00O0O0DO
(2-2-2) num 000 10000

nim0 000000O0O0OOOOO



gogo

(4)

(6)
(1)

ggoboboboooooobooooobooo

(4-1) sun 0 000000000

(42)i0 0000000

(4-3) i<num 0000000000000 2000000000000
(4-3-1) datalil] 0 sum 000000
(432) i000 10000

4-4) mean 0 S¥B OQOQOOo0OO
num

gogobobooboooooboboooobbobooo

(5-1) vsum O 0.0 0000000
(5-2) i0 0000000
(5-3) i<num 0000000000000 2000000000000

(5-3-1) (datali]l —mean) 0 200 vsum OO0 OO0O
(5-3-2) i000 10000

(5-4) sigma O /X 0000

mean [ sigmna U0 0000000000000 0O0D0OO0OOO0OO

00 detaUO00ODOOOOODOOOOODOOOOOODOO 100000

#define MAX_DATA 1000

ggobooboooobbbd #0ggobbbooooobobooao
U0 data 000000 0OOmain OO0OD0OOOOODOO

COOUOOoOo NODODODOODDODODO ODODOOOOO N—-10O0O0O0O0O0O0O0
oooo oboogoo

double data[1000];

00 double D000 data 000 0OO00ODODOOODOOODDOOODNO datalolO
datal[1]0 ...0datal[999] DO OO

goggbboboooobbbbooogobbiodd for0ggonpbbogo
O000D000Db0O000Db00 preak 000O0DOODOO

S 0000 CO0 sqre(vsum/num) O000000 0000000000

googoo

#include <math.h>

000000000O00OD (boo)oo

cc -0 prog2-2 prog2-2.c -1m



goobbD-Imdoobobooooobbbooonon

#include <stdio.h>
#include <stdlib.h>
#include <math.h>
#define MAX_DATA 1000
int main ()
{
double data[MAX_DATA], sum, mean, vsum, sigma;
int i, num;
for (num = 0; num < MAX_DATA; num++) {
printf("%2d0 0000 0 => ", num+l);
if (scanf ("%1f", &datal[num]) '= 1)
break;
}
if (num == 0)
exit (EXIT_SUCCESS) ;
sum = 0.0;
for (i = 0; i < num; i++)
sum += datalil;
mean = sum/num;
vsum = 0.0;
for (i = 0; i < num; i++)
vsum += (datal[i]-mean)x*(datal[i]-mean);
sigma = sqrt(vsum/num) ;
printf ("O OO = %.2f, 0000 = %.2f\n", mean, sigma);
return EXIT_SUCCESS;
}

prog2-2.c ODOOOOOO —

2 0QO00ODbO0OOObDOOoDbOo

000000000000000000000000000000O000 (00000 O0OO0)00O0
0000000000000 (sorting) DO00DODODOODOODOODODOOODODO10DODOO

(selection) 0000000000000 ODODOOODODOODODOODOOOOOOO

2,1 0JODOODOOODOODOOO

gobooobboooboooobooobbooobbooobbooobboooobbooooD

0000000 000000oooooooto

00000 (1) 0000000000000 0D000000DO00O000O0ODO0D0ODODOOoOOO

(2) 000D00D0O0O0O0ODOO0 (DDDOO0)0DOD0O0OD0UDDOO0ODODDOODDOOODOOODOO

oo0200000000000

0000000000000 000000000000000000000000000000000



(3) 000000 200000000 (0000)0000O0OOOO0OODODOO
oo0oooOo0o0o30oooooooooo

(4) 000300000000 (000D0)000000DOO0O0ODO0ODOODOODOO
ocooo400000000000

goon
000000 (1) 000000000 000000D0 data00000000 num 0000
(2) 00000 startOposOilmin0dtmp 00O OO0
(3) start 0 00000000
(4) start<num— 1 0000000000DO00OO0 300000000000
(4-1) 00 data 000 start 000000000000 pos000000 OO
gooooo3b00ooboobooooOooDo
(4-1-1) min O datalstart] OOpos O start D000 OOO0OODO
(4-1-2) i 0 start+1 000000
(4-1-3) i<numO00O0O0D0O0O0O0OD0ODO0OOOOODOOOO
(4-1-3-1) 00O datali] <minOO0O000Omin 0 datali] O O pos
0igoooboboood
- os start atalstart atalpos
42) 000 p 0000 datal ] O datalpos] 000000
g goooo
(4-2-1) tmp O datalstart] 00000000
(4-2-2) datalstart] O datalpos] OO OOOOO
(4-2-3) datalpos] O tmp DO ODDOOO
(4-3) start 000 10000
0000000000 selectsort DOOOOOO —
1 void selectsort(int datal], int num)
2 {
3 int start, pos, 1i;
4 int min, tmp;
5
6 for (start = 0; start < num-1; start++) {
7 min = datal[start];
8 pos = start;
9 for (i = start+l; i < num; i++) {
10 if (datal[i] < min) {
11 min = datali];
12 pos = 1ij;
13 }
14 by
15 if (pos != start) {
16 tmp = datalstart];
17 data[start] = datalpos];
18 data[pos] = tmp;
19 }




20 }
21 }

3 0000

OO0300000000000000000000DOO0O0O0O0OO000O0 mprog2 OODOOO
gbooobooboboobooobobooboooboobo

3.1 prog2-l1.c

011 0000000000000 prog2-1.cO000000O0O0DOO0OOODOOOODODOOODO
oooobooboboooboon

O0: OD0000000 mprog2 0000000000 ODO0OO TAUDDODDOODOODODOOOOOOO
U00Omprog2 O OOOOOODOOOOODOOOOODOO

3.2 prog2-3.c

5000000 selectsort 0000000 D00O0OOOD0ODO0OOOOO (DODOOO)0DOOOOO
0o00oO0oD (lo00000)0000000000D00 1000000 COD0O0O0O prog2-3.c 00O
googoo

prog2-3.c DOOO —

s1542h017% ./prog2-3

1i0o0oggo = 67
2000000 => 98
3nooooo =7
4000000 => 19
5000000 =>45
e onoOoOog =>174
TOO0o0Oogo => 19
gooooong =>5
subuoggg => 28
10000000 => 55
11goooog = .
5, 7, 19, 19, 28, 45, 55, 67, 74, 98
s$1542h0177%

000000000000 00(000000)1000000000000000000 showdata O
gooobgoooon

00 showdata OO —

void showdata (int datal[], int num)

{

int i;

if (num > 0) {
printf ("%34", datal0]);
for (i = 1; i < num; i++)
printf(",%3d", datalil);




printf("\n");

3.3 prog2-4.c

O00prog2-3.cl prog2-4.c 100000000000 S5000000 selectsort0oon
6000 70000000 showdata DOO0O0O0O0O0OOO0O0O0O0O0OOOOOOOODOOODOOOOO

gboobgoobooboobobooboooon

s1542h017% ./prog2-4

1i0o0oggo = 67

20000400 => 98

3aooooog =17

40004000 => 19

5000000 =>45

e onooOog =>174

T0o0Doogg => 19

gooooono =>5

s Oonbouogno => 28

1000000 ng => 55

11gooooog = .

67, 98, 7, 19, 45, 74, 19, b5, 28,
5, 98, 7, 19, 45, 74, 19, 67, 28,
5, 7, 98, 19, 45, 74, 19, 67, 28,
5, 7, 19, 98, 45, 74, 19, 67, 28,
5, 7, 19, 19, 45, 74, 98, 67, 28,
5, 7, 19, 19, 28, 74, 98, 67, 45,
5, 7, 19, 19, 28, 45, 98, 67, 74,
5, 7, 19, 19, 28, 45, 55, 67, 74,
5, 7, 19, 19, 28, 45, 55, 67, 74,
5, 7, 19, 19, 28, 45, b5, 67, 74,

$1542h017%

55
55
55
55
55
55
55
98
98
98

prog2-4.c D0OOO —

0000000000000 D00000D (00 selectsort U0O0)00O00O0ODOODOODOO
goo0oobOo0ooobooobbOooobodn prog2-5.c ooooooooon? (00Doooooag

mprog2 100 0D0DOD0OODODODOOO)O

$1542h017% ./prog2-5
1000000 => 67
10000000 => 55
11000000 => .

67, 98, 7, 19, 45, 74, 19, 5, 28,
5, 98, 7, 19, 45, 74, 19, 67, 28,
5, 7, 98, 19, 45, 74, 19, 67, 28,
5, 7, 19, 98, 45, 74, 19, 67, 28,
5, 7, 19, 19, 45, 74, 98, 67, 28,
5, 7, 19, 19, 28, 74, 98, 67, 45,

00000000 3000000000000

55
55
55
55
55
55

prog2-5.c OO OO —




5, 7, 19, 19, 28, 45, 9§, 67, 74, 55

5, 7, 19, 19, 28, 45, 55, 6?, 74, 98

5, 7, 19, 19, 28, 45, 55, 67, 7%, 98

5, 7, 19, 19, 28, 45, 55, 67, 74, 98
s1542h017%

0000oooooooooloo 20000

Ub0o0o0bd0 progl-4.c DUODODODOO —

#include <stdio.h>
int main ()
{
double min, max, sum, new;
int num;
num = 0;
sum = 0.0;
while (1) {
printf("O0 000 O00OOOCOO =>");
if (scanf("%1f", &new) != 1)
break;
if (num == || new < min)
min = new;
if (num == 0 || new > max)
max = new;
sum += new;
num ++;
}
if (num > 0) {
printf ("OODO = %.3f, 000 =%.3t, 00O = %.3f\n",
min, sum/num, max);
}
return O;
}




